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goboboobooboboooooon
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oooo
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— booooobcoobobooooooboobooobobooooooooooboood
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Temperature November/2003 at Akita

day max min average
1 20.3 6.0 12.1
2 20.4 9.5 15.2
3 22.8 13.9 17.8
4 14.9 6.4 11.5
5 18.4 4.3 10.6
6 17.9 10.5 13.3
25 10.6 7.6 9.2
26 7.0 0.6 4.3
27 7.3 -0.3 2.8
28 12.2 0.1 6.0
29 15.7 7.9 12.2
30 15.1 11.2 13.4
max (Nov.) = 22.8
min(Nov.) = -0.5
average(Nov.) = 9.2
01110000
ojoo 10 20 30 --- 230
10 83 79 75 72 .- 9.8
20 93 92 91 90 --- 6.3
30 62 58 53 49 - 12.0
300 43 39 33 28 - 3.8




#include <stdio.h>

int main(void){
o1;
double temp[31][24];
double max_day[31], min_day[31], av_day[31];
double max_nov, min_nov, av_nov;
double sum_day, sum_nov;
int dates, hours;

int i, j;

/¥ —mmmm 00000000 =-=-————=———————————————————— */
dates = 30;

hours = 24;

/¥ —mmmm doododddod --————————=————————————- */

if ([0 ])==NULL){
printf("can not open the file\n");
return 1;

}

[* mmmmmmmmm e 00000000000000 ------mmmm---mn */

for(i=1; i<=dates; i++){
for(j=0; j<=hours-1; j++){

(ol
}
}
Y ——— 000000000 -—mmmmmmmmmmmmmmmmmmmme e */
fclose(fp);
Y 00000000000 -—mmmmmmmmmmmmmmmm e */
max_nov = [O7]; /¥ 1100000000 *x/
min_nov = [O]; /x 1100000000 =/
sum_nov = [01]; /¥ 1100000000000 %/
for ([0 1)1 /¥ 100000000 %/
max_day[i] = [O]; /¥ 100000000 =/
min_dayl[i] = [O1]; /100000000 %/
sum_day = [O]; /100000000000 %/
for ([0 1)1 /* jOO00000 O =*/
sum_day [O]; /* 000000000 =/



if (O D1
[O7;
}

if (temp[i] [j] < min_day[il){
min_day[i] = temp[il [j];
}
}

(o1;

sum_nov += av_dayl[il;

if (max_day[i] > max_nov){
max_nov = max_day[i];

}

if([O0DA{

(01,
}

/¥ 1000000000 G/

/¥ 1000000000 B/

/1000000000 =/

/* 110 10000000000

/11000000000 */

/11000000000 %/

/11000000000 %/

printf ("\n\nTemperature November/2003 at Akita\n");

printf("-————————m \n");
printf (" day max min average \n");
printf (" \n");

for(i=1; i<=dates; i++){

%5.11f\n",

printf ("%3d %5.11f  %5.11f

i, max_day[i], min_day[i], av_day[il);
}
printf("-——————————————

printf ("max(Nov.)

--------- \n\n");

%5.11f\n", max_nov);

printf ("min(Nov.) = %5.11f\n", min_nov);

printf ("average (Nov.)

return O;

%5.11f\n\n", av_nov);

*/



(01
(O]
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(01-1[01
(0]

(0]

(o]
(a1l

(a1l

(0]

(ol

(al

(0]

1) file *fp

)
)
)
)
)
1) fscanf (fp, "%1f", templ[il[j1)
3) fscanf (fp, "%1f", &templil [j1)
) -9999 (2) 10.0
) i=0; i<=dates; i++
3) j=0; i<=dates; j++
1) j=1; j<=hours; j++

) j=0; j<=hours; j++

) += temp[il [j1 (2) = templil [j]
1) temp[il [j] < max_day[j]
3) temp[i]l [j] < max_day[i]
1) max_day[i]l == temp[i][j]
3) max_day[i] = templ[il] [j]
) av_day[i] = sum_day*hours
3) av_day[i] = sum_day+hours
1) min day[j] < min_nov
3) min_day[j] > min nov
) min nov == min day[i]
) min nov += min day[i]
)

sum nov/dates (2) sum_nov*dates

(2) FILE *fp_read
1) fp=fopen("/tmp/le/temperature.txt","r")

(3) FILE fp (4) FILE *fp

2) *fp=fopen("/tmp/le/temperature.txt","r")
3) fp=fopen("/tmp/le/temperature.txt","w")
4) fp=fopen(/tmp/le/temperature.txt,r)

2) scanf (fp, "%1f", &templ[i] [j1)
4 fscanf(fp, "%1f", &templi,jl)

3 (4) 9999

2) i=1; i<=dates; i++

4) j=1; i<=dates; j++

2) j=1; j<=hours-1; j++

4) j=0; j<=hours-1; j++

3) -= temp[il[j] (4) += max_day[j]
2) temp[i] [j] > max day[j]

2) max_day[i] -= temp[i] [j]
4) max_day[i] += templ[i] [j]
2) av_day[i] = sum_day/hours
4) av_day[i] = sum_day-hours
2) min_day[i] < min_nov

4) min_day[i] > min_nov

(2)
(4)
(3) 0
(2) 1
(4)
(2)
(4)
(3)
(2)
(4) temp[i] [j] > max day[i]
(2)
(4)
(2)
(4)
(2)
(4)
(2)
(4)
(3)

2) min nov -= min day[i]
4) min nov = min day[i]
3) sumnov/hours (4) sum_nov*hours
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